1. What pressure is exerted by 0.693 moles of oxygen in a 5665mL vessel at 18°C?

2. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon
monoxide occupies a volume of 0.445 L at 0°C and 850.torr?

3. What volume will 4.54x10% atoms of helium occupy at 1.05 atm and 25°C?

4. What is the pressure of 25.00 moles of methane at 50.0°C if it occupies a volume of 60.0L?

5. A 75.0 gram sample of argon is confined in a 3.1 L vessel. What is the pressure at 115°C.

6. What pressure will be exerted by 25 moles of CO, at a temperature of 25°C and a volume of
500 mL?
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2. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon
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3. What volume will 4.54x10™ atoms of helium occupy at 1.05 atm and 25°C?
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4. What is the pressure of 25.00 moles of methane at 50.0°C if it occupies a volume of 60.01.?
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1. What pressure is exerted by 0.693 moles of oxygen in a 5665mL vessel gt 182C?
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2. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon
monoxide occupies a volume of 0.445 L at 0°C and 850.torr?
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3. What volume will 4.54x10% atoms of helium occupy at 1.05 atm and 25°C2
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4. What is the pressure of 25.00 moles of methane at 50.0°C if it occupies a volume of 60.0L?
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6. What pressure will be exerted by 25 moles of CO, at a temperature of 25°C and a volume of
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